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1.
What are the percent compositions in carbon dioxide?


CO2 = 44.01 g/mol


C = 12.01 g/mol


2 O = 32.00 g/mol


% C = 
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% O = 
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2.
What are the percent compositions in carbon monoxide?


CO = 28.01 g/mol


C = 12.01 g/mol


O = 16.00 g/mol


% C = 
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% O = 
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3.
A student places 84.788 grams of lithium chloride into a 10.000 liter volumetric flask 
and fills to the mark with water.  What is the molarity (a unit of concentration) of 
the solution?

Before calculating the concentration, determine how many moles of LiCl are present:


84.788 g LiCl 
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Molarity (M) = 
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